Parameter Best-fit Uncertainty Best-fit Uncertainty Best-fit Uncertainty
value Stat Expt Thbgd  Thsig value Stat Expt Thbgd  Thsig value Stat Expt Thbgd  Thsig
ATLAS+CMS ATLAS CMS
_ +0.11 +0.09 +0.03 +0.01 +0.06 +0.16 +0.14 +0.01 +0.02 +0.07 +0.14 +0.12 +0.04 +0.01 +0.06
Koz =Kg "Kz[kg | 1.10Zg 7 20.09 20.02 20.01 20.05 1.20 %15 20014 20.02 20.02 20.06 0.99 2’13 20012 20.03 2001 20.05
+0.11 ) +0.09) +002) +0.01 ) +0.06) +0. ]6) +014) +003) +0.02) ("'0.06) +0. 15) +0]3) +0.03) +0.01 ) (+006)
2011 20.09 20.02 20,01 20,05 20.15 2013 20.03 20.02 20,05 20,14 20,12 20.03 20.01 2005
2 _ 1.26 +0.23 +0.18 +0.09 +0.06 +0.09 1.06 +0.26 +0.21 +0.08 +0.08 +0.09 1.47 +0.44 +0.34 +0.22 +0.13 +0.13
Zg =Kkz/Kg 26 2519 20.16 ~0.07 ~0.05 ~0.08 06 o721 20,18 20.06 20.06 ~0.07 AT 29134 2028 ~0.14 ~0.08 20.10
+0.20 +0.15 +0.08 +0.05 +0.08 +0.28 +0.23 +0.10 +0.09 +0.09 +0.27 +0.22 +0.12 +0.07 +0.09
Co.17) Coaa)  Coloe)  Coloa)  Color) Co.23)  Coo)  Coor)  Cooe)  (Color) Co.23)  (Col1e) Coloe)  Coos)  Color)
_ +0.32 +0.21 +0.12 +0.09 +0.18 +0.34 +0.25 +0.12 +0.12 +0.15 +0.51 +0.39 +0.26 +0.15 +0.25
Apg =KelKg 1.76 Zo:29 20.20 20011 2009 20013 1.39 733 20.24 20013 20014 20010 -2.25 75’55 20.36 20,19 20.14 20018
+0.29) +0.20) +0.11 ) +0.14) +0.11 ) +0.38) +028) +014) +018) (1'0.12) +O.42) +0.31 ) +0.16) +0.21) (+013)
~0.39 ~0.21 ~0.12 ~0.19 ~0.08 ~0.54 ~0.28 ~0.19 ~0.26 ~0.07 20.64 20.33 20.21 20.40 20,07
_ +0.10 +0.09 +0.03 +0.02 +0.02 +0.14 +0.13 +0.03 +0.03 +0.02 +0.13 +0.13 +0.05 +0.04 +0.02
Awz =Kkw Kz 0.89 Z9.09 ~0.08 ~0.03 ~0.02 ~0.01 0.92 2512 ~0.11 ~0.03 ~0.03 ~0.02 -0.85 2915 ~0.11 ~0.05 ~0.03 ~0.02
+0.12) +0.11 ) +004) +0.03) +0.02) +0.18) +016) +005) +0.04) (1'0.02) +0. 17) +0]5) +0.06) +0.03) (+003)
20,10 ~0.09 20.03 20.03 2001 2015 2013 20.04 20.04 20,02 20,14 20,13 20.05 20.03 20,02
2 _ 0.89 +0.11 +0.11 +0.03 +0.01 +0.02 0.88 +0.16 +0.15 +0.03 +0.02 +0.02 0.91 +0.17 +0.16 +0.04 +0.02 +0.02
vz =Ky IKz -89 Z9.10 20.09 20.02 ~0.01 ~0.02 88 0114 ~0.13 ~0.03 20,02 ~0.02 91 20014 ~0.13 20.03 ~0.02 ~0.02
+0.13 +0.13 +0.03 +0.02 +0.02 +0.20 +0.19 +0.05 +0.03 +0.02 +0.18 +0.17 +0.04 +0.01 +0.03
Co2)  Co)  Go2)  Coor)  Colo2) Coai7) Coir) Good)  Coo2)  (Colo2) Coite)  Cois)  Coloz)  Coo)  Colo2)
+0.14 +0.12 +0.07 +0.02 +0.02 +0.22 +0.18 +0.09 +0.04 +0.03 +0.20 +0.16 +0.10 +0.02 +0.02
Arz =K [Kz 0.85 2912 20.10 20.06 20.02 20.02 0.97 218 ~0.15 ~0.08 20.03 20.02 0.78 Zo.17 20,15 ~0.08 20.02 20.02
+0.17 +0.14 +0.09 +0.02 +0.03 +0.27 +0.23 +0.13 +0.04 +0.04 +0.23 +0.19 +0.12 +0.02 +0.03
(Cois)  Coiz) Colos)  Co2)  Colo2) (Co23) (o) Coar)  Coz)  Colo2) o200  Colr) Goar)  Colon)  Colo2)
+0.18 +0.12 +0.07 +0.07 +0.03 +0.24 +0.20 +0.09 +0.10 +0.04 +0.26 +0.17 +0.09 +0.11 +0.04
Apz =KplKz 0.56 p'18 Z0.11 20.07 20.08 20.02 0.61 g% ~0.18 20.10 Z0.11 20.02 0.47 Zo'17 20,15 ~0.09 ~0.13 20.03
+0.25 +0.21 +0.09 +0.08 +0.06 +0.36 +0.31 +0.13 +0.11 +0.08 +0.38 +0.32 +0.15 +0.11 +0.08
(Co)  Coig)  Coos)  Coor)  Colos) (Co29)  (Co24)  Colo) Colge)  (Colos) (Co37)  (Co25)  Coa2)  Coan)  (Coles)




